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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
BEL
= 1 58, 545, 440
LA A AR AR
= 1 58, 545, 440
BRI
= 1 32,915,914
EEEE [KERT] (F-2) JAE[902 (m3/min) BLEI. #EL
540 (Pa) LLL]
5 2 8, 427, 267 16, 854, 534
EEEE [M-5] (E-2) JAE[260 (m3/min) BL BT, #EL
200 (Pa) LLL]
5 1 7,039, 247 7,039, 247
PEEEE [M-5] (T-1) JAE[310 (m3/min) BLEI. #EL
220 (Pa) LA L]
5 1 9,022, 133 9,022, 133
R R A E
= 1 18, 381, 353
ffEkF  [XERT] (F-2/)
Bi) 2 892, 298 1,784, 596
ffEkE  [M-5] (E-2f)
B3Il 1 624, 609 624, 609
fifEkE  [M-5] (T-1f)
B3Il 1 624, 609 624, 609
28— [M-5] (E-2/) SUS304
Bi) 1 3,965, 772 3,965, 772
28— [M-5] (T-1H) SUS304
Bi) 1 3,965, 772 3,965, 772
HER  [M-5] (E-2H) SUS304
= 1 4, 540, 810
27~ [M-5] (E-2/)
= 1 2,875, 185
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THEXy « T - FER - 5 pso) FREAL K B G EHAm & M| TE (B ESM)
PRAEAE R fr
= 1 7,248,173
PLC
5 1 7,248, 173 7,248,173
HhREE
= 1 58, 545, 440
RUEIFUIG
= 1 58, 545, 440
Pl L
= 1 12, 688, 660
FL[AE A R RR s
= 1 123, 930
ik T
= 1 123, 930
LA A AR R s
= 1 123, 930
LA AR TR AT
= 1 11, 746, 180
FEEE AR T
= 1 11, 746, 180
KGR - R R R Mk
aft
= 1 11, 030, 741
R EhE
= 1 416, 710
B AR R (FERNE)
= 1 298, 729
G an
= 1 818, 550
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
AW LT
= 1 818, 550
RIBFHEE
= 1 818, 550
I L
= 1 3,061, 953
IR
= 1 123,077
et ¢
= 1 20, 415
36 K ZAE T B
= 1 20, 415
et By
= 1 102, 662
Bt By
= 1 102, 662
HIBGERE (FE L)
= 1 2,938, 876
Wi
= 1 15, 750, 613
B
= 1 3, 780, 536
Pafr ety
= 1 5,812, 401
PEAT T 5
= 1 25, 343, 550
AR EH AT
= 1 2,410, 116
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)

T AT

= 1 86, 299, 106

— R

= 1 9, 700, 894
TS

= 1 96, 000, 000
THEBLFH Y %H

= 1 9, 600, 000
TH#EG

= 1 105, 600, 000
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